N = 0l & At & Ml A

SN EAD
Ha: BN M 2D Y4B
chel: Eare A D (sl &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=4t 19,894,801 22,672,161 A2,777,360
= 184,800
J| 11,803,371
< 7,906,630
MY 8= 2D 9F5 19,862,938 22,637,556 A2,774,618
= 184,800
J| 11,803,371
< 7,874,767
Sy 3™ W 1,155,050 1,102,040 53,010
| 10,000
< 1,145,050
WA 2HsEZE AN (Z2) 12,000 12,000 0
| 10,000
< 2,000
308 XtXIEHH SOl A 12,000 12,000 0
| 10,000
< 2,000
01 IXNHHEBANEES 12,000 12,000 0
OHA BHs828E 12,000
| 10,000
< 2,000
st S5 683,855 684,800 A 945
202 O4dl 5,355 6,300 A 945
01 =2 LHA YI 5,355 6,300 A 945
Os&t* SE1N33s dRFA 5,355
308 XXM SO0l A 678,500 678,500 0
01 IXNHHMBNEES 678,500 678,500 0
o8t S2d=ast 678,500
Hsatgy ZFetd XY 90,240 90,240 0
308 XtXIEHHSOIA 90,240 90,240 0
01 AXHHILEES 90,240 90,240 0
OLsaY Yoy X 90,240
I=sAE Sle XA 225,000 31,500 193,500
403 A X EHHSH20lA 225,000 31,500 193,500
01 HXSHMA=LE L 225,000 31,500 193,500
OJ=ANZE St XA 225,000
FEY=E 3E daAg 71,505 0 71,505
202 Odl 5,355 0 5,355
01 =2LHAYI 5,355 0 5,355
OBNYESAYHAS YR T 5,355
308 XtXIEHH SOl A 66,150 0 66, 150




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 AIKSHMEAMNEX= 66, 150 0 66, 150
OFHU=HIA NN 66,150
AAH =IO SHIMA 72,450 103,500 A 31,050
308 XHXIGHH SO0l & 72,450 103,500 A 31,050
01 IXHHIMNEXS 72,450 103,500 A 31,050
OLAH=II stFIA 72,450
A 2H otAE G 1,095,000 961,604 133,396
St ESO0LXI A OFA 10,000 20,000 A 10,000
308 AMXISHMSOIA 10,000 20,000 A 10,000
01 X HHIMNEEXTZ 10,000 20,000 A 10,000
OSt: SO0FAIMAH oA 10,000
EMSsIE E201 XS 140,000 175,104 N 35,104
308 AMXIESHMSOIA 140,000 175,104 N 35,104
01 AIXSHMEMNEXZ 140,000 175,104 N 35,104
EpNsIE =200 A 140,000
THOHCHH] SAAIE RXORM 225,000 15,000 210,000
403 XX SHHS K20 ™ 225,000 15,000 210,000
01 AIXISHHMA2E X 225,000 15,000 210,000
OTMAHHHl SAAIE 2XZONA 225,000
IIEMMoHEE XN 720,000 720,000 0
308 XHXIGH SO0l & 720,000 720,000 0
01 IXHHNIMNEXS 720,000 720,000 0
OJIEMl2E X & 720,000
EANE NE2MHH 2= 4,022,860 3,276,400 746,460
J| 2,413,500
= 1,609,360
ZASMAZ AIL2IXHE X (Z21D) 1,983,240 1,960,000 23,240
J| 1,416,600
= 566,640
308 MXISHMSOIA 1,983,240 1,960,000 23,240
J| 1,416,600
& 566,640
01 IXHHIMNEEXTZ 1,983,240 1,960,000 23,240
OZXZANE MA2 AIL2IXNHE XS 1,983,240
J| 1,416,600
& 566,640
TAIE2MAIZR SRS XK (=2D) 1,232,550 859,000 373,550
J| 821,700
& 410,850
308 AMXIEHMSOIA 1,232,550 859,000 373,550




-

2N

=41
Ha: BN M 2D Y4B
©?: ZAE MESHA 2= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 821,700
< 410,850
01 IXNHHBNEES 1,232,550 859,000 373,550
OXANE MaE S X 1,232,550
J| 821,700
< 410,850
IAMNE S22 XA (=21) 97,200 97,200 0
J| 81,000
< 16,200
308 XX EHHSOIA 97,200 97,200 0
J| 81,000
< 16,200
01 AXHHILEES 97,200 97,200 0
O=AMNZE SE2el X 97,200
J| 81,000
= 16,200
H2UIAELEE AL XNHME XS (=21) 62,870 52,200 10,670
J| 54,200
< 8,670
308 AHAIEHHSOIA 62,870 52,200 10,670
J| 54,200
< 8,670
01 HIXNHHNBHNEELES 62,870 52,200 10,670
OMIEA =&EE AMelXl ME X& 62,870
J| 54,200
< 8,670
HIUNEzHEE 7Y XA (=21) 11,600 10,000 1,600
J| 10,000
< 1,600
308 XXM SOIA 11,600 10,000 1,600
J| 10,000
< 1,600
01 AXHHILEES 11,600 10,000 1,600
ONEZHI =488 S XA 11,600
J| 10,000
< 1,600
ZAZMAE JIHZHTY NA(2D) 39,000 48,000 £9,000
J| 30,000
< 9,000
403 RXISH S =0l & 39,000 48,000 ~9,000
J| 30,000
< 9,000
01 X HHMA=LE L 39,000 48,000 A 9,000
OXAZE dMaE I - ZH 7 X 39,000
J| 30,000
< 9,000




t

EX: F4HD
Ha: BN M 2D Y4B
Cte: RAIR XNZ2AHH 2= C
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SEX ZAIE MAEH K& 64,600 100,000 A 35,400
202 04| 4,600 0 4,600
01 2L I 4,600 0 4,600
OKREXN ZAE MAXMH ) =X 4,600
403 XX SHHS K20 & 60,000 100,000 A 40,000
01 XIS A=Z2E X 60,000 100,000 A 40,000
OKES X ZALS MAEYH X 60,000
E=1E 2 ZAIE2 A28 2 346,800 150,000 196,800
308 AMXISHMSOIA 30,300 0 30,300
01 X HHIMNEEXTZ 30,300 0 30,300
OBZEXg &2 XAl A28 = 30,300
403 XX SHHS K20 & 316,500 150,000 166,500
01 XIS A2 X 316,500 150,000 166,500
OB=XE &2 A2 A28 = 316,500
A~ ANESsIH DEE FAtE2 MA XAlE I 110,000 0 110,000
308 XHXIEH SOl A 110,000 0 110,000
01 AIKISHHEMNEXZ 110,000 0 110,000
O AIEsI DEE FAME MA Z At I 110,000
MR Al AZE L TIsS3 AlE & 75,000 0 75,000
403 XX SRS K 20| & 75,000 0 75,000
01 XHHE2E =X 75,000 0 75,000
OTMR AlE A& 2 XS3F A XJ 75,000
=L I3 1,908,447 210,000 1,698,447
J| 1,169,539
o= 738,908
EMAFPAAIS (Z1D) 858,347 0 858,347
J| 715,289
=} 143,058
403 XX S M S K201 & 858,347 858,347
J| 715,289
o= 143,058
01 AIXISHHMA2E X 858,347 0 858,347
OFA2AF MEAS 858,347
J| 715,289
& 143,058
ElMHY| A ZH (=21 545,100 0 545,100
J| 454,250
& 90,850
308 XHXIEHSOIA 545,100 0 545,100
J| 454,250
& 90,850




N L1
M M9 M2 D ES
Sl JIES R XS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 545,100 0 545,100
OEldyl &=l XI& 545,100
J| 454,250
< 90,850
MEE IIEER Hel 455,000 210,000 245,000
403 MtXISHHE X201 & 455,000 210,000 245,000
01 XM A=2EE 455,000 210,000 245,000
O4lsE JIE2R HMel 425,000
OU=SA JI=2=x XMl &Ed XI& 30,000
S4bs0E -l werEdl XA 50,000 0 50,000
403 XM SA=0l& 50,000 0 50,000
01 X SHMA=2E X 50,000 0 50,000
O=4tsIt &l wetEd X 50,000
arobE M 690,480 122,200 568,280
J| 231,000
< 459,480
SHF = ICT J1H - &HI(=2) 277,200 73,600 203,600
J| 231,000
< 46,200
403 MtXISHH S A0l & 277,200 73,600 203,600
J| 231,000
< 46,200
01 XM A2 277,200 73,600 203,600
O%AFH=ZE ICT JIH - EHl XA 277,200
J| 231,000
< 46,200
IIE=ER dFHMT S 130,000 0 130,000
403 A X EHHS =0l A 130,000 0 130,000
01 X SHHX2E= 130,000 0 130,000
OJ=ER AFHMZ UE 130,000
MWRE Sasd =4 283,280 48,600 234,680
202 O4dl 4,680 0 4,680
01 = LH 4 Hi 4,680 0 4,680
OMWRE Ho= T8 YREX 4.680
308 XXM SOl A 258,600 48,600 210,000
01 IXNHHBMNEES 258,600 48,600 210,000
ORe Hsd =4 258,600
403 A X EHHS =0l A 20,000 0 20,000
01 X EHHMA=LE L 20,000 0 20,000
OMRe SM=sd =4 20,000




2N
X ZH -
L= B

el

e
>
o i =l]

SR
tor J{J
m
kJ
0g
O
to

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o Jd 8 s 5,423,780 5,427,700 A 3,920
= 44,000
J| 4,105,000
< 1,274,780
ADLE 4 ICT AIEEX =4 (=21) 4,262,500 3,937,500 325,000
J| 3,625,000
< 637,500
403 A X EHHS K20l A 4,262,500 3,937,500 325,000
J| 3,625,000
< 637,500
01 XM A= LE L 4,262,500 3,937,500 325,000
OADIE =4t ICT AIEEX =4 4,262,500
J| 3,625,000
< 637,500
SESX F& HEEH (=) 50,600 46,000 4,600
= 44,000
< 6,600
308 XXM SO0 A 50,600 46,000 4,600
= 44,000
< 6,600
01 IXNHHBNEES 50,600 46,000 4,600
O=s2=KX F4 2148 50,600
= 44,000
< 6,600
ZLZ20F ICT 58 &#aH(=12) 480,000 810,000 A330,000
J| 480,000
403 XIS E X201 & 480,000 810,000 A 330,000
J| 480,000
01 XXM 22 = 480,000 810,000 A.330,000
O=&=Z0E ICT 8= XA 480,000
J| 480,000
As8 SLAE X 399,000 399,000 0
403 MHXSHHSA=0l& 399,000 399,000 0
01 X ESHMA=2E L 399,000 399,000 0
OXsg FLAE XA 399,000
s==2X 25 N 138,180 235,200 A 97,020
403 MtXISHH S =0l & 138,180 235,200 A 97,020
01 X SHMA=2E X 138,180 235,200 A 97,020
oOs=2=X 25 XA 138,180
HEFAEF =4 93,500 0 93,500
403 MtXISHHE X201 E 93,500 0 93,500
01 XM A=2EE 93,500 0 93,500




2N

Z4 D
Ha: S
4 M

el Ha (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | oTZEFL ST =4 93,500
oy =4 335,750 108,800 226,950
= 13,300
J| 26,400
< 296,050
dsitg FEMS(=2) 13,300 16,000 A2,700
= 13,300
308 XXM SO0 A 13,300 16,000 A2,700
= 13,300
01 IXNHHBNEES 13,300 16,000 A2,700
ox=sitE 2N 13,300
= 13,300
EZY s4(=21) 24,250 46,800 A 22,550
J| 20,200
< 4,050
308 XXl EHH SOl A 24,250 46,800 A 22,550
J| 20,200
< 4,050
01 IXNSHHEBAMNEES 24,250 46,800 A 22,550
OESE =4 24,250
J| 20,200
= 4,050
2y gX&EY XN (=1) 6,200 6,000 200
J| 6,200
403 UHXSHHSA=0l& 6,200 0 6,200
J| 6,200
01 HXSHHMA=E X 6,200 0 6,200
oZd EX&y XA 6,200
J| 6,200
BHRESLY =S4 40,000 40,000 0
403 MtXISHH S0l & 40,000 40,000 0
01 *XSHMA=2EE 40,000 40,000 0
OLRAESHMY =4 40,000
Z2ELSNY §H 252,000 0 252,000
403 XIS E X201 H 252,000 0 252,000
01 X SHHA2E = 252,000 0 252,000
oXaLIHY =4 252,000
Se AS U2t 1,021,525 972,696 48,829
J| 819,228
< 202,297
StMSOHME (=2) 896,125 885,576 10,549
J| 714,728
< 181,397




2N
X ZH -
L= B

el

241
SM9 @2 2D YE
SN AS U2

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
308 XHXIEHSO|A 896, 125 885,576 10,549
J| 714,728
& 181,397
01 AIXSHMEMNEX= 896, 125 885,576 10,549
Os&tAM =0IME XN 896, 125
J| 714,728
=} 181,397
SAE S0HE 2 - 29 K (=2D) 36,000 12,000 24,000
J| 30,000
& 6,000
308 XHXIGHH SO0l & 36,000 12,000 24,000
J| 30,000
& 6,000
01 AIKISHHEBENEXZ 36,000 12,000 24,000
ORAas4d &S0 HE - 29 X 36,000
J| 30,000
= 6,000
sE=2Z s0g4ds(=21) 75,000 58,800 16,200
J| 62,500
o= 12,500
308 AMXISHMSOIA 75,000 58,800 16,200
J| 62,500
=} 12,500
01 AIXSHMEMNEX=Z 75,000 58,800 16,200
Os&2Z s0e24dst 75,000
J| 62,500
& 12,500
=20t Z3ASH(=2D) 14,400 16,320 A 1,920
J| 12,000
= 2,400
308 XHXIEHSOIA 14,400 16,320 AN 1,920
J| 12,000
= 2,400
01 AIKISHHEMNEXZ 14,400 16,320 A 1,920
os20t =23t 14,400
J| 12,000
o= 2,400
BdE g 4 456,715 924,500 N467,785
AAx=2 Ul LS 2435 30,000 335,000 A 305,000
307 giztol A 30,000 0 30,000
02 AI2tAAMAIE E =X 30,000 0 30,000
oL Ad=-UHE 5iLIK 43 30,000
ARAFASE SEEJE P 15,000 0 15,000
307 2I2t0| & 15,000 0 15,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 15,000 0 15,000
OZAFLZ SSEYME HE 15,000
ARG SEEHE IXIHMD 411,715 574,500 A 162,785
308 XXM SOIA 327,715 434,500 A 106,785
01 IXNHHBANEES 327,715 434,500 A 106,785
OZdete SEEHE XM 327,715
403 A X EHHS =0l A 84,000 140,000 256,000
01 X EHHMA=LE L 84,000 140,000 256,000
OZ3st® SE2HE IXIMD 84,000
SSMA D=5t 538,594 1,569,253 A 1,030,659
= 127,500
J| 311,995
< 99,099
Het Hea+E g N (=21) 153,000 144,000 9,000
= 127,500
< 25,500
403 MHXSHHSA=0l& 153,000 144,000 9,000
= 127,500
< 25,500
01 HXSHMA2E X 153,000 144,000 9,000
OXegt Ne2+s XE X 153,000
= 127,500
< 25,500
Ea20/F 22 N (=21) 385,594 325,253 60,341
J| 311,995
< 73,599
307 21201 A 22,714 22,714 0
J| 11,357
< 11,357
02 IAHFAANHFEX 22,714 22,714 0
ODONAZ At 22,714
Jl| 11,357
< 11,357
308 MtXIEHMSOIH 362,880 302,539 60,341
J| 300,638
< 62,242
01 HXNHHNBHEES 362,880 302,539 60,341
OHHE =R A 362,880
J| 300,638
< 62,242
SME =5 2E 3,214,737 2,699,333 515,404
J| 2,716,709
< 498,028
SRz ANE(21) 3,078,937 2,511,333 567,604




EXN: Fat
Ha: BN M 2D Y4B
ool 542 43 oF (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 2,716,709
& 362,228
308 XHXIEH SO0l A 3,078,937 2,511,333 567,604
J| 2,716,709
&< 362,228
01 AIKSHHEMNEX= 3,078,937 2,511,333 567,604
o8Nz A N 3,078,937
J| 2,716,709
& 362,228
R & 254l A& 50,200 108,000 A 57,800
308 NXICSHMSOIA 50,200 108,000 A 57,800
01 IXHHIMNEXS 50,200 108,000 A 57,800
ot =5 234 XA 50,200
SN gdsts 32 JI& 36,000 0 36,000
308 XX SHHSOIH 36,000 0 36,000
01 AIXSHMENEXZ 36,000 0 36,000
0% DLRBA YAE 23 X 36,000
LAFMSHZEY 49,600 80,000 A 30,400
307 2Iz2to| & 49,600 80,000 A 30,400
04 SIZ2ISHAAISH E & 49,600 80,000 A 30,400
OLR=ZA=E THZ & ([ 49,600
HHSHAL (o) 31,863 34,605 N2, 742
JlEddl 31,863 34,605 N2, 742
229 J24H| 31,863 34,605 N2, 742
201 LBt 22,449 22,905 AN 456
01 AP 22| H| 22,449 22,905 AN 456
OEMS&Y AtR2t2/d]| 22,449
202 044 5,814 8,100 N2,286
01 2L Y| 5,814 8,100 AN2,286
OFMEY =2UW0HHI 5,814
203 €2 =&XH| 3,600 3,600 0]
04 FEASHEYIFFEH| 3,600 3,600 0
©20Q! 0ol ot 3,600






